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Trigonometry

Lecture 44

Feb 19-8:47 AM

Given  P(2,3) , Q(32)
) Tnd  PR-<D2,2-2)

-4-5-1) @& r/.
—1 P
2) Drow S& ' SN
e |

3) Dvow ’Ug:dP’EQD N S\mt\AuVo\ POS\\'\'DV\.

L‘) Knd \‘U.\ = ,‘ (*5)z+(~\)1: J?é

Nov 19-10:26 AM




November 19, 2024

Qm‘uen W=C3,4> \l':<0,6‘>
HSted WAV, wu-\
U= 310, G tbp= $3,10)
U-V =<3-0,4-65= L3,-2)
in Stoandad Posike

3) D UV & W

w-v
3) 3w -2V
33,4 -240,6):<9,)- {0,12)
1) WeV: 300 ¢ -6 4243 - <9,0)

5) 1ul-{3 ¢ ) ey\W\-Joe-6

“I) S\ﬂA T\\e, C\Y\S\e befween W m\A'\Y.
S Gos0: =% Cos@- 4
Goo: iy 0w o5
Q=los ( 5)

0~ 31°

Nov 19-10:31 AM

e \2
(riven =25 12> Mg
)\ ul- Jeoyee- J e =i ‘. \ p
2) §ad éys Aweemv\ anle 0. Cosg;%.;,
R 0-80"-67° B
-3

W o5 , (] StaBp= I3 o, 150

Nov 19-10:41 AM



November 19, 2024

W=4C -2 V=30 +4)
) Drowd W &V in Stondovl  Posikion.

v
=< 1‘2> 0

N = {3/"\> W

N Sid e ansle befueen W EW,
WV 4 A= 4 12

CO% % = \L\\\'\Y\ ‘&6 5 - —\2‘-\—%

oo .5 Wl s J20
A :
572/ ° db \V\:W:E

235 A
0 S 0 (3R

RS
~ 20

Nov 19-10:46 AM

Prove \'UL\a - WU

Suwose =L, o>

\u\:\/m
ul - (Joei)= ot

MU = L&, by » L8, bY=0Lk J\—b\g:ae\ﬂ‘gd\/

Nov 19-10:54 AM



u-\
TDQ lu-vrl
0
n \D

Low oF Cestne
fuc v = ul =2 1w\ (s ©
@DV s + =V - 2 ||| 0se

/u\r s V/)*/{ o ul|vicese

K - & \w| \ V| Gs B

M-\T:\u\\\r\ Cos ©
UV
Eos O Juivl

Nov 19-10:57 AM

W= 4%/3> '\r:<_6/%>

HDvaw W £, in %@hvxo\awo\ posikown,
v "
_»

\

a) Sir\A NN, \'U\.\ ,cmA \\]'\
M- < 6> =254 4240
\___/\_/"

lwl-5 , \vl=10
3) Stad Ud\g\e btween W &N

Coo 0= > (10-9 (s0:=0

\ \\\Y\ o 0-0°

1 V0 =p UWLY
©=90"

Nov 19-11:04 AM

November 19, 2024



November 19, 2024

W= 4,3 N=<MH,-D

DDow M &V in hondad  position,

ad "
¥
A Sind AU\, T ond W
43,3
\’U.\:S \\r =, Q ! > < >
=2=25
DRnd angle betueen thew
w25 A
Go b= w56 %
0- Cos (-1
Q- \Q°
Nov 19-11:11 AM
_b
W Proy U=( T )V
\“\ ] U (t )
Wt
f ol \ul\\rl
Sclar Prg) 03 U onto \ A\ ﬂuo\ o
Cos®:—r =W s ® exiend

Peoi W -
fd \u@sdL_ \\Y\V

n y(\u\r T

=
4%

A
\
\—I_D

\\r\
[ ] R —b
P ()

=

SchW'Frﬂo$
W onto ¥

Nov 19-11:17 AM



= < Lt/e>
Gamfh av , and la_\[ on
2-<3,4> .
$V=L2,1)

Sid o wnit Vedbor tn the divection of 43y
0y

luf-5

NLay-<tid)
To Stad o mwst Vector tn the divection of
U= L&, 6>, Hely by 4

muy \\3‘( 3 \u\

n-2, 4
\\L\ = \‘ 4 4lb oncY Veckor
J20 =235 in Sawe divection
/ & 2m)
51,2

Nov 19-11:24 AM

November 19, 2024



